811.0167
1/4“ + 1/2" socket spanner set

379,

BEEE

568 x 398 P10 P10TC P15 P20

= (= (=

P30 P35 P45

Pos. Code Description pcs llPos. Code Description pcs llPos. Code Description pcs

1 911.1308 1/2" Bit socket hexagon, short, 8 mm 29 911.1379 1/2" Bit socket Torx tamperproof, TB60 58 917.2402 1/4* Torx E Socket, deep, E5

2 911.1809 1/2" Bit socket hexagon, short, 9 mm 30 911.1380 1/2" Bit socket Torx tamperproof, TB70 59 917.2403 1/4* Torx E Socket, deep, E6

3 911.1310 1/2" Bit socket hexagon, short, 10 mm 31 911.4515 Bit socket for RIBE screws, M9, length 55 mm 60 917.2404 1/4* Torx E Socket, deep, E7

4 911.18312 1/2" Bit socket hexagon, short, 12 mm 32 911.4516 Bit socket for RIBE screws, M10, Length 55 mm 61 917.2405 1/4“ Torx E Socket, deep, E8

5 911.1314 1/2" Bit socket hexagon, short, 14 mm 33 911.4551 Bit socket for RIBE screws, M10.1, Length 55 mm 62 917.2406 1/4“ Torx E Socket, deep, E10

6 911.1317 1/2" Bit socket hexagon, short, 17 mm 34 911.4517 Bit socket for RIBE screws, M12, Length 556 mm 63 917.1525 1/4" Hexagonal socket, deep, 4 mm
7 911.1365 1/2" Bit socket Torx, T40 35 911.4518 Bit socket for RIBE screws, M13, Length 55 mm 64 917.1526 1/4" Hexagonal socket, deep, 4,5 mm
8 911.1366 1/2" Bit socket Torx, T45 36 911.4519 Bit socket for RIBE screws, M14, Length 55 mm 65 917.1527 1/4" Hexagonal socket, deep, 5 mm
9 911.1867 1/2" Bit socket Torx, T50 37 917.1210 1/2" Hexagonal socket, 10 mm 66 917.1528 1/4" Hexagonal socket, deep, 5,5 mm

10 911.1368 1/2" Bit socket Torx, T55
11 911.1369 1/2" Bit socket Torx, T60
12 911.1870 1/2" Bit socket Torx, T70
13 911.1313 1/2" Bit socket spline (XZN), M9, 55 mm
14 911.1343 1/2" Bit socket spline (XZN), M10, 55 mm
15 911.1344 1/2" Bit socket spline (XZN), M12, 55 mm

38 917.1211 1/2" Hexagonal socket, 11 mm
39 917.1212 1/2" Hexagonal socket, 12 mm
40 917.1213 1/2" Hexagonal socket, 13 mm

1
1
1
1
1
1
1
1
1
1 67 917.1426 1/4" Hexagonal socket, deep, 6 mm
1 68 917.1427 1/4" Hexagonal socket, deep, 7 mm
1 69 917.1428 1/4" Hexagonal socket, deep, 8 mm
41 917.1214 1/2" Hexagonal socket, 14 mm 1 70 917.1429 1/4" Hexagonal socket, deep, 9 mm
42 917.1215 1/2" Hexagonal socket, 15 mm 1 71 917.1430 1/4" Hexagonal socket, deep, 10 mm
) 43 917.1216 1/2" Hexagonal socket, 16 mm 1 72 917.1431 1/4" Hexagonal socket, deep, 11 mm
16 911.1345 1/2" Bit socket spline (XZN), M14, 55 mm 44 9171217 1/2" Hexagonal socket, 17 mm 1 73 917.1432 1/4" Hexagonal socket, deep, 12 mm
17 911.1346 1/2" Bit socket spline (XZN), M16, 55 mm 45 917.1218 1/2" Hexagonal socket, 18 mm 1 74 917.1433 1/4" Hexagonal socket, deep, 13 mm
18 911.1348 1/2“Bit socket spline (XZN) tamperproof, 46 917.1219 1/2" Hexagonal socket, 19 mm 1 75 911.1436 1/4" Bit socket hexagon, 3 mm
M16, 55 mm 47 9171220 1/2" Hexagonal socket, 20 mm 1 76 911.1437 1/4" Bit socket hexagon, 4 mm
19 911.4336 1/2" Torx E Socket, E14 1 77 911.1438 1/4" Bit socket hexagon, 5 mm
20 911.4322 1/2" Torx E Socket, E16 1 78 911.14385 1/4" Bit socket hexagon, 5,5 mm
21 911.4323 1/2" Torx E Socket, E18 1 79 911.1439 1/4" Bit socket hexagon, 6 mm
22 911.4324 1/2" Torx E Socket, E20 1 80 911.1440 1/4" Bit socket hexagon, 7 mm
23 911.4325 1/2" Torx E Socket, E22 1 81 911.1441 1/4" Bit socket hexagon, 8 mm
24 911.4326 1/2" Torx E Socket, E24 1 82 917.1454 1/4" Bit socket hexagon, 9 mm
25 911.1375 1/2" Bit socket Torx tamperproof, TB40 1 83 917.1452 1/4" Bit socket hexagon, 10 mm
26 911.1376 1/2" Bit socket Torx tamperproof, TB45 1 84 917.1584 1/4" RIBE Socket M4S
27 911.1377 1/2" Bit socket Torx tamperproof, TB50 1 85 917.1585 1/4" RIBE Socket M5S
28 911.1378 1/2" Bit socket Torx tamperproof, TB55 1 86 917.1586 1/4" RIBE Socket M6S

RN S N N I P R R N N N R P R

48 917.1221 1/2" Hexagonal socket, 21 mm
49 917.1222 1/2" Hexagonal socket, 22 mm
50 917.1223 1/2" Hexagonal socket, 23 mm
51 917.1224 1/2" Hexagonal socket, 24 mm
52 917.1343 1/2" Hexagonal socket, 26 mm
53 917.1227 1/2" Hexagonal socket, 27 mm
54 917.1344 1/2" Hexagonal socket, 28 mm
55 917.1230 1/2" Hexagonal socket, 30 mm
56 917.1232 1/2" Hexagonal socket, 32 mm
57 917.2401 1/4“ Torx E Socket, deep, E4

RN ) ) R (R P R N R N N O S P R I R R R R R N P R R e

N I = N O e e

148  PERFORMANCE PLUS



performance.

0)(0)(0)(0)(0) (0) ©)(0)(0) (00 () ©) © ©)(0) (0)0)
DIIDIOIDIOICIOIVIOIOIOIOIOIOIOIOIO!

T55H

@@Q“

E10 .5 5 55 6 I ‘
H3 H4 H5 H5.5 Hé H7 H8 H9 H10 RM8 RM10

- ©

s

© ©

e

g@

Pos. Code Description pcs llPos. Code Description pcs llPos. Code Description pcs

87 917.1587 1/4" RIBE Socket M7S 116 917.1543 1/4" Bit socket spline (XZN), M6 145 917.1408 1/4" Hexagonal socket, 8 mm

88 917.1588 1/4" RIBE Socket M8S 117 917.1545 1/4" Bit socket spline (XZN), M8 146 917.1409 1/4" Hexagonal socket, 9 mm

89 917.1590 1/4" RIBE Socket M10S 118 917.1546 1/4" Bit socket spline (XZN), M10 147 917.1410 1/4" Hexagonal socket, 10 mm

90 911.1448 1/4" Bit socket Torx, T8 119 917.1578 1/4" Torx Plus bit socket 8IPR 148 917.1411 1/4" Hexagonal socket, 11 mm

91 911.1478 1/4" Bit socket Torx, T9 120 911.1701 1/4" Bit socket five star tamperproof, TS10 149 917.1412 1/4" Hexagonal socket, 12 mm

92 911.1442 1/4" Bit socket Torx, T10 121 911.1702 1/4" Bit socket five star tamperproof, TS15 150 917.1413 1/4" Hexagonal socket, 13 mm

93 911.1443 1/4" Bit socket Torx, T15 122 911.1703 1/4" Bit socket five star tamperproof, TS20 151 911.1543 1/4“ Wobble extension with hexagon drive,

94 911.1444 1/4" Bit socket Torx, T20 123 911.1704 1/4" Bit socket five star tamperproof, TS25 250 mm

95 911.1445 1/4" Bit socket Torx, T25 124 911.1705 1/4" Bit socket five star tamperproof, TS27 152 1911.1450 1/4* Universal joint 1

96 911.1449 1/4" Bit socket Torx, T27 125 911.1706 1/4" Bit socket five star tamperproof, TS30 153 1911.1423 1/4" Extension with hexagon drive, 50 mm 1

97 911.1446 1/4" Bit socket Torx, T30 126 911.1707 1/4" Bit socket five star tamperproof, TS40 154 911.1451 1/4" Extension with hexagon drive, 150 mm 1

98 911.1447 1/4" Bit socket Torx, T40 127 911.1708 1/4" Bit socket five star tamperproof, TS45 155 911.1202 1/2" Extensions, 125 mm 1
1
1
1

99 911.1482 1/4" Bit socket, PHO 128 911.1419 1/4" Bit socket slot, 5,5 mm 156 911.1424 1/4" Extension with hexagon drive, 100 mm
100 911.1415 1/4" Bit socket, PH1 129 917.1421 1/4" Bit socket slot, 6,5 mm 157 911.1203 1/2" Extensions, 250 mm

101 911.1416 1/4" Bit socket, PH2 130 911.0101 1/4* socket with magnet 158 1911.1250 1/2" Universal joint

102 911.1483 1/4" Bit socket, PZ0 131 911.1494 Adaptor, 1/4°Mx3/8‘F 159 911.1207 3/8" Sliding adaptor, 3/8"F x 1/2"M 1
103 911.1401 1/4" Bit socket, PZ1 132 911.3897 3/8" Reducing adaptor, 3/8" F x 1/4" M 160 917.1455 1/2" Flexi head drive handle 1
104 911.1402 1/4" Bit socket, PZ2 133 911.4313 1/4* Torx E Socket, E4 161 920.1290 1/2" SimPOWER Reversible ratchet, 72 teeth 1
105 911.1461 1/4" Bit socket Torx tamperproof, TB8 134 911.4314 1/4 Torx E Socket, E5 162 515.0992 SlimPOWER 1/2"Alloy rim impact socket, 17mm 1
106 911.1485 1/4" Bit socket Torx tamperproof, TB9 135 911.4315 1/4* Torx E Socket, E6 163 515.0993 SlimPOWER 1/2*Alloy rim impact socket, 19 mm 1
107 911.1462 1/4" Bit socket Torx tamperproof, TB10 136 911.4316 1/4* Torx E Socket, E7 164 515.0994 SIimPOWER 1/2°Alloy rim impact socket, 21 mm 1
108 911.1463 1/4" Bit socket Torx tamperproof, TB15 1
109 911.1464 1/4" Bit socket Torx tamperproof, TB20 1
110 911.1465 1/4" Bit socket Torx tamperproof, TB25 1
111 911.1466 1/4" Bit socket Torx tamperproof, TB27
112 911.1467 1/4" Bit socket Torx tamperproof, TB30
113 911.1468 1/4" Bit socket Torx tamperproof, TB40
114 917.1541 1/4" Bit socket spline (XZN), M4

115 917.1542 1/4" Bit socket spline (XZN), M5

165 911.1434 1/4“ Square drive screwdriver, 150 mm
166 914.1410 Mini hand reversible ratchet, 1/4“, 72 teethh
167 920.1490 1/4“ SlimPOWER Reversible ratchet, 72 teeth

137 911.4317 1/4“ Torx E Socket, E8

138 911.4332 1/4“ Torx E Socket, E10

139 917.1404 1/4" Hexagonal socket, 4 mm
140 917.14045 1/4" Hexagonal socket, 4,5 mm
141 917.1405 1/4" Hexagonal socket, 5 mm
142 917.14055 1/4" Hexagonal socket, 5,5 mm
143 917.1406 1/4" Hexagonal socket, 6 mm
144 917.1407 1/4" Hexagonal socket, 7 mm

RN ) i ) e (R P R R R N R S S P e R e R N R R N P e R e
N ) N = R (R R S S N N R R N PR N R R N N R R R R R e

7]
[-t]
b=
o
7]
7]
5]
(3
=]

<<

PERFORMANGCE PLUS 149



